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#include <stdio.h>

int main(int argc, char **argv)

{
printf("%c say %s %d \n", 'l', "hello", 6);

return 0;
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#include <stdio.h>

#include <stdarg.h>

void my_printf(const char *format, ...)

{
va_list arg; [va_list =A%, EfRRAEKSEYRPTEE, B “Em” px
va_start(arg, format); [/¥1UEAL arg, H5 format J5 5 — N HhEIR{E 45 arg

while (*format)// [ " @ H "

{
char ret = *format; //— char —~ char Hik [
if (ret =='%')
{
switch (*++format) /5 ++ B HUVE
{
case 'c":
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char ch = va_arg(arg, int); //va_arg(arg,int), 3k arg {8 M ZEMMEH, [
WS arg $8 18] T — N4 int FERIBA AT S50, 41T S8R IR N char B84, (HEZHH int,
X T UL YT SRR R 8 T NN AFEUE, T va_list 24408 4 7958 8 50 5+ 1,
f8 € N char &4

putchar(ch);
break;
}
case's':
{
char *pc = va_arg(arg, char *);
while (*pc)
{
putchar(*pc);
pc++,
}
break;
}
case 'd":
{
intin = va_arg(arg, int);
putchar(in+'0");
break;
}
default:
break;
}
}
else
{
putchar(*format);
}
format++;

}
va_end(arg);//va_end TEHLELHIHATRESHE arg U TEAUE, X B, &4 arg faEHEIA)
7 NULL, & 4 B B Fe £t

}

int main(int argc, char **argv)

{
my_printf("%c say %s %d \n", 'l', "hello", 6);
return O;

}
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int printf(const char *fmt, ...){
int i;
char buf[256];
va_list arg = (va_list)((char*)(&fmt) + 4);
i = vsprintf(buf, fmt, arg);
write(buf, i);

return i;}

vsprintf REVSFIENSHABIRUZBEN buf, IRERETCEEANHKE, vsprintf &
HU0T:

int vsprintf(char *buf, const char *fmt, va_list args) {
char* p;
char tmp[256];
va_list p_next_arg = args;
for (p=buf;*fmt;fmt++) {
if (*fmt = '%") {
*p++ = *fmt;
continue;
}
fmt++;
switch (*fmt) {
case 'x':

itoa(tmp, *((int*)p_next_arg));
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strcpy(p, tmp);
p_next_arg += 4;
p += strlen(tmp);
break;

case 's':
break;

default:

break;

}

return (p - buf); }

BEJE write BRECBESEUINZAF 48, SRJEH int21h AR sys_call o sys_call BFFFE
FHMNFAFET B LEH BB EA T, BEEPAMER2 TR ASCH 5,

TR /RS TR ASC B7E PR E IR B S G R, K S S AR vram
o

SR S B — E I REAR AT E vram, FHE S S4TSR e B A — A A
(RGB 735 )

)5, hello FEFAHiIH: hello BtS ~TE T B Lo



	printf的实现分析

